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R1 = 2 n r1 = 1 n ρ1 = 2 n
R2 = 3 n r2 = 2 n ρ2 = 3 n
R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 4 nm2 = 16 n
m3 = 4 nm4 = 192 n
m5 = 128
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R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 4 n
m1 = 9 nm2 = 6 n
m3 = 36 nm4 = 72 n
m5 = 72
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R1 = 2 n r1 = 1 n ρ1 = 2 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 20 nm2 = 24 n
m3 = 128 nm4 = 56 n
m5 = 96
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 3 n r3 = 1 n ρ3 = 2 n
R4 = 5 n r4 = 2 n ρ4 = 4 n
m1 = 4 nm2 = 16 n
m3 = 64 nm4 = 147 n
m5 = 196
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R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 15 nm2 = 8 n
m3 = 100 nm4 = 60 n
m5 = 200
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R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 3 n r3 = 1 n ρ3 = 2 n
R4 = 4 n
m1 = 2 nm2 = 8 n
m3 = 4 nm4 = 6 n
m5 = 4
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 3 n r3 = 1 n ρ3 = 2 n
R4 = 3 n r4 = 2 n ρ4 = 2 n
m1 = 4 nm2 = 4 n
m3 = 16 nm4 = 6 n
m5 = 32
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R3 = 3 n r3 = 2 n ρ3 = 2 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 19 nm2 = 12 n
m3 = 7 nm4 = 108 n
m5 = 90
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R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 2 nm2 = 20 n
m3 = 64 nm4 = 576 n
m5 = 72
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R3 = 3 n r3 = 1 n ρ3 = 2 n
R4 = 5 n r4 = 2 n ρ4 = 4 n
m1 = 18 nm2 = 8 n
m3 = 4 nm4 = 147 n
m5 = 196
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R1 = 2 n r1 = 1 n ρ1 = 2 n
R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 3 n r3 = 2 n ρ3 = 2 n
R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 16 nm2 = 48 n
m3 = 7 nm4 = 64 n
m5 = 128
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R2 = 4 n r2 = 2 n ρ2 = 2 n
R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 4 nm2 = 8 n
m3 = 5 nm4 = 256 n
m5 = 96
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R1 = 2 n r1 = 1 n ρ1 = 2 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 3 n r3 = 2 n ρ3 = 2 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 16 nm2 = 4 n
m3 = 7 nm4 = 54 n
m5 = 90
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R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 10 nm2 = 6 n
m3 = 100 nm4 = 250 n
m5 = 2500
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R2 = 4 n r2 = 2 n ρ2 = 2 n
R3 = 4 n
R4 = 4 n r4 = 2 n ρ4 = 3 n
m1 = 2 nm2 = 8 n
m3 = 8 nm4 = 3 n
m5 = 4

e
wxyxzx {|}}~��~ IB�E	�GH ��GFB�

�
�

�
�

� ��

? M

R3 = 4 n r3 = 2 n ρ3 = 3 n
R4 = 3 n r4 = 2 n ρ4 = 2 n
m1 = 16 nm2 = 12 n
m3 = 144 nm4 = 54 n
m5 = 288
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R3 = 4 n
R4 = 4 n r4 = 2 n ρ4 = 3 n
m1 = 11 nm2 = 10 n
m3 = 32 nm4 = 144 n
m5 = 144
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R1 = 2 n r1 = 1 n ρ1 = 2 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 4 n
R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 4 nm2 = 12 n
m3 = 32 nm4 = 54 n
m5 = 144
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 4 nm2 = 4 n
m3 = 36 nm4 = 27 n
m5 = 4
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 3 n r3 = 1 n ρ3 = 2 n
R4 = 4 n r4 = 2 n ρ4 = 3 n
m1 = 4 nm2 = 20 n
m3 = 16 nm4 = 108 n
m5 = 18
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R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 2 n
R4 = 4 n
m1 = 6 nm2 = 20 n
m3 = 48 nm4 = 160 n
m5 = 64
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?M R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 9 nm2 = 12 n
m3 = 20 nm4 = 144 n
m5 = 54
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R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 13 nm2 = 4 n
m3 = 96 nm4 = 256 n
m5 = 256
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R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 5 n r3 = 2 n ρ3 = 4 n
R4 = 2 n
m1 = 2 nm2 = 24 n
m3 = 4 nm4 = 96 n
m5 = 64
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-F R3 = 4 n r3 = 1 n ρ3 = 3 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 14 nm2 = 4 n
m3 = 4 nm4 = 16 n
m5 = 8
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 4 n r2 = 2 n ρ2 = 3 n
R3 = 4 n r3 = 1 n ρ3 = 3 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 4 nm2 = 80 n
m3 = 4 nm4 = 100 n
m5 = 50
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-F R3 = 2 n r3 = 1 n ρ3 = 1 n

R4 = 4 n r4 = 1 n ρ4 = 3 n
m1 = 15 nm2 = 6 n
m3 = 16 nm4 = 64 n
m5 = 64
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R1 = 2 n r1 = 1 n ρ1 = 1 n
R2 = 3 n r2 = 2 n ρ2 = 2 n
R3 = 4 n r3 = 1 n ρ3 = 3 n
R4 = 3 n r4 = 1 n ρ4 = 2 n
m1 = 4 nm2 = 20 n
m3 = 4 nm4 = 48 n
m5 = 16

e
wxyxzx {|}}~��~ ��GHE ��E��CBFE

�
�

� �
�

-F

R3 = 2 n r3 = 1 n ρ3 = 1 n
R4 = 2 n r4 = 1 n ρ4 = 1 n
m1 = 14 nm2 = 2 n
m3 = 36 nm4 = 243 n
m5 = 162
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µ1 µ2 µ3 µ4 µ5

∑
µk� � �� � �� �� ��� �M\PUR^ �M\PU	 
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